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Expand and simplify:
30% of 0 = 10 of 38 1) ((( +2) ((( +3) 4)(23-1) (<2-2)

↳Is this correct?
2) (32-7) ((( +6) 5)(C+2) (5-33C +2)

(c%of y = y. of(c
CIs this always, sometimes or never true?3) (l-2) ((2-3) 6)D13) (27-7x2-6
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m ic an even number, his odd and p is I'e' 56-89 18 ighlighted is is & Tzs
prime. Test these conjectures. 11 12 I 3 1, I 16118120 The total of This isofthe2 I 2 I I I

It is odd mty is odd 33 3 3, 3 3

3
3-383, 8 What is the total

I I I I I -18 , 30 of Tes?
5 5 5 5, 5 5 3-585 68

9 a a

: s i - g·incos.6s000 in-- -6...8- 88 Generalize this.

mn is add is odd 8 g 00.000 0000900 What would happen if the
grid were 8x8?


